£ 6 — 1
(BI7)

BN =R EEE
SHISEENEHBEERSDHFERICONT



O TS

B S RMEER
S[HMOSEEARBERSICHENVT, HRERHEADKI1 X OEFRMEIH N RBRERSEREL TS

TR X Rifes aat
=R ER = =R ER = ES05 S E5
=HE 54 96.4% 2 3.6% 56
=5 43 97.7% 1 2.3% 44
JEmEA 77 95.1% 4 4.9% 81
R[N 42 91.3% 4 8.7% 46
FAA 40 90.9% 4 9.1% 44
i 51 91.1% 5 8.9% 56
SR 68 89.5% 8 10.5% /6
N sl 211 88.3% 28 11.7% 239
8| =1l 45 83.3% 9 16.7% 54
gl 36 92.3% 3 1.7% 39
ERED 74 89.2% 9 10.8% 83
B o6 88.9% / 11.1% 63
ABRAT (£4K) 586 91.3% 56 8.7% 642
X[ ERERI 1 1Zih

S8R . D 5 FEIREEERE (RIKME | ©570 6 F 1 H268RE) 5



A1) BNMRLEREREEADRTICRSNREEERSDHSIK

(KERAF£15)
ARFLE TR, BABLESERBEOREERSH HSEMEMII.
BRSNS ROBEEBLTERMBATIIONMM. BEEHLILVERMBITII1OMBLLOTLS

(B« EEFRAEREER)

BN SRON B 113 & A SR EE 1SR e N
EEMEMIGD | BEEEIBL | EBE[E@H) | &EIEmIRL = =
O4FERLBETR 0 1 0 0 7
@ttt = sz 18w P 3 5 2 0 51
Q— R 200 _EDIRFE (O, @BRC) 7 9 19 2 48
@—A%IRR 200 R K DR e 14 3 314 21 355
OBKRZEPE 6 1 141 33 181
30 19 476
&as ' 42
91 495 26 6
(847 : 2S)
&SRO EE BT & A RO EE [ SR e st
BEMEBIHD | BEEmIRL | BEIEml6h | ZBElEmlnL = =
OYFEHLEETRPT 86% 0% 14% 0% 0% | 100%
ithisy RS iR 80% 6% 10% 4% 0% 100%
Q—RER 200 _EDIRFE (D, @BRC) 23% 15% 19% 40% 4% 100%
@—AS%IRR 200 R K DR e 1% 49% 1% 88% 6%| 100%
OBREZEMNE 0% 3% 1% 78% 18%| 100%
SR | S 5 EEIMIMESRS (RIRE | T 6 4 1 A260H1%)




OQ2)BNZLECEFHREAOREICRAINARBERSOHRSAR (ATAZRERE)

FAAZRERETRE. BN ZRERERHREORTEEMH HSEFHEI.
ERNROBEER=IERMEATIIIME. BELF[LILVERBETIIIMEALLOTS

(B« EEFRAEREER)

BSRO L 51T B AR B BTSRRI e N
EEME@IGD | BEEEIBL | BEEEIH) | EEMEmIRL = =
O4FERLBETR 0 0 0 0 1
@ttt = sz 18w P 0 1 0 0 3
Q— R 200 _EDIRFE (O, @BRC) 0 2 0 0 2
@—A%IRR 200 R K DR e 2 1 23 3 29
OBKRZEPE 0 0 8 1 9
2 4 31
BE ' 4 44
f 5 35
(847 : 2S)
&R RO B 8RS B EINSED B B ER0 e st
BEMEBISD | BEIEAILL | EEME@IHD | ZBEE@IRL = =
OYFEHLEETRPT 100% 0% 0% 0% 0% 100%
Qihis) = ST 1B IR P 67% 0% 33% 0% 0% 100%
Q— AR 200 _EDIRFE (. @FRC) 0% 0% 100% 0% 0% 100%
@—AS%IRR 200 R K DR e 0% 7% 3% 79% 10%| 100%
OBKRZEPISE 0% 0% 0% 89% 11%| 100%

SR . Bl 5 FEIRIEREIRS (RIKME : ©H6F 1 H26HIRT) 4

\\



